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Antworten

Bsp. 68

1. 119

2. 128

3. 135

4. 56

5. 56

6. 108

7. 39

8. 112

9. 135

10. 70

Wende das Distributivgesetz an um jede Aufgabe zu lösen.

Bsp) 17 × 4 = (8 × 4) + ( 9 × 4 )
=

6832 + 36

1) 7 × 17 = (7 × 9) + ( 7 × 8 )
=

11963 + 56

2) 16 × 8 = (9 × 8) + ( 7 × 8 )
=

12872 + 56

3) 9 × 15 = (9 × 9) + ( 9 × 6 )
=

13581 + 54

4) 4 × 14 = (4 × 9) + ( 4 × 5 )
=

5636 + 20

5) 4 × 14 = (4 × 6) + ( 4 × 8 )
=

5624 + 32

6) 6 × 18 = (6 × 8) + ( 6 × 10 )
=

10848 + 60

7) 13 × 3 = (3 × 3) + ( 10 × 3 )
=

399 + 30

8) 14 × 8 = (6 × 8) + ( 8 × 8 )
=

11248 + 64

9) 9 × 15 = (9 × 9) + ( 9 × 6 )
=

13581 + 54

10) 5 × 14 = (5 × 7) + ( 5 × 7 )
=

7035 + 35
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